 35. Compute the cost to be assigned to ending inventory for each of the

     methods indicated, given the following information about purchases

     and sales during the year.

                                                      Unit      Total

                                            Units     Cost      Cost

                                            —————     ————     ——————

     January   1    Beginning inventory      150   @   $3   =  $  450

     May       1    Purchase                 450   @   $6   =   2,700

                                             ———         ——————

                    Total                    600         $3,150

                    Total sales              360

                                             ———

     December 31    Ending inventory         240
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     a. Cost assigned on an average cost basis           $___________

     b. Cost assigned on a FIFO basis                    $___________

     c. Cost assigned on a LIFO basis                    $___________

